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1. Introduction
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]In the RAN4 #110bis meeting, the L1/L2 based inter-cell mobility were discussed and WF [1] has been approved. In this paper, some issues are further discussed.
2. [bookmark: _Hlk135408036][bookmark: OLE_LINK37][bookmark: OLE_LINK109][bookmark: OLE_LINK38][bookmark: OLE_LINK108]Discussion
Issue 1-1-1-1: The value of additional time for DL synchronization when needed in the delay requirements for PDCCH ordered RACH before cell switch command
	<Way Forward>: Further discuss the following option:
· Option 1 (Apple, CATT, MTK): In PDCCH ordered RACH delay, TSSB is:
· TSSB is the time to first SSB transmission after PDCCH-order RACH command is decoded by the UE when SSB is within active BWP
· TSSB is the time to first SSB transmission overlapped with MGL after PDCCH-order RACH command is decoded by the UE when SSB is outside active BWP.
· Option 1a (MTK): in the definition of TSSB, the PDCCH-order decoding time is assumed as 1 slot.
· the time to first SSB transmission after slot n+1, where slot n is the slot that UE receives PDCCH-order RACH command when SSB is within active BWP
· the time to first SSB transmission overlapped with MGL after slot n+1, where slot n is the slot that UE receives PDCCH-order RACH command when SSB is outside active BWP.
· Option 2 (vivo): For the time to wait for the 1st SSB transmission, Tfirst-SSB should be 
· the SSB periodicity of the candidate cell when SSB is within active BWP, or 
· the measurement gap periodicity when SSB is outside active BWP.
· TSSB-proc = 2 ms should be counted in TSSB.


In our understanding, before UE transmit PDCCH ordered RACH, UE need DL synchronization. So UE need get the first SSB to achieve DL synchronization, in this case, according to the legacy descriptions in clause 8.15.3 in TS 38.133, we think TSSB is the time to first SSB transmission after PDCCH-order RACH command is decoded by the UE when SSB is within active BWP, and TSSB is the time to first SSB transmission overlapped with MGL after PDCCH-order RACH command is decoded by the UE when SSB is outside active BWP.
Proposal 1: In PDCCH ordered RACH delay, TSSB is:
· TSSB is the time to first SSB transmission after PDCCH-order RACH command is decoded by the UE when SSB is within active BWP
· TSSB is the time to first SSB transmission overlapped with MGL after PDCCH-order RACH command is decoded by the UE when SSB is outside active BWP.

[bookmark: _Hlk150988820]Issue 3-2-3-1: Tinterruption of PSCell switch
	< Way forward>
The interruption on MCG due to PSCell switch is the same as PSCell addition.


In previous meeting, we have discussed the similar issue. In our undersatanding, the PScell switch is independent, so we think the Pcell switching has no effect on PScell switching. In this case, the interruption on MCG due to PSCell switch is the same as PSCell addition.
Proposal 2: The interruption on MCG due to PSCell switch is the same as PSCell addition.

Issue 2-4-3: L1 report for unmeasured candidate cells
	<Way Forward >: Further discuss the following options:
· [bookmark: _Hlk150988084]Option 1 (MTK): 
· In L1-RSRP measurement report, for unmeasured candidate cells, UE reports measured quantity value corresponding to any of the invalid codepoints in Table 10.1.6.1-1.
· Option 2 (vivo): 
· In L1-RSRP measurement report, for unmeasured candidate cells, UE reports measured quantity value corresponding to one of the invalid codepoints in Table 10.1.6.1-1, preferably RSRP_0.
· Option 3 (Nokia): 
· RAN4 needs to discuss more in which scenario this case is needed.
· Option 4 (Ericsson, QC):
· In L1-RSRP measurement report, for unmeasured candidate cells, UE reports DIFFRSRP_15 in Table 10.1.6.1-2.


We think UE could send the invalid codepoints in Table 10.1.6.1-1 for unmeasured candidate cells,
and for network, it does not matter which one. So, we prefer option1.
Proposal 3: In L1-RSRP measurement report, for unmeasured candidate cells, UE reports measured quantity value corresponding to any of the invalid codepoints in Table 10.1.6.1-1.
3. Summary
[bookmark: OLE_LINK51][bookmark: OLE_LINK20][bookmark: OLE_LINK21]In this paper, we provide our views on L1/L2 based inter-cell mobility. From this discussion we have derived the following proposals: 
Proposal 1: In PDCCH ordered RACH delay, TSSB is:
· TSSB is the time to first SSB transmission after PDCCH-order RACH command is decoded by the UE when SSB is within active BWP
· TSSB is the time to first SSB transmission overlapped with MGL after PDCCH-order RACH command is decoded by the UE when SSB is outside active BWP.
Proposal 2: The interruption on MCG due to PSCell switch is the same as PSCell addition.
Proposal 3: In L1-RSRP measurement report, for unmeasured candidate cells, UE reports measured quantity value corresponding to any of the invalid codepoints in Table 10.1.6.1-1.
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